N = 0l & AF & F Al A

200998 & =0

z
ne
T
ton
=

SN MESEHH
HIM: HHSAYH| (ARAZTSEERCH) (IIEHIIE
ool olE gyl (oA
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
MBS 25,356,328 17,397,668 7,958,660
= 11,333,897
Fa; 1,706,480
2 2,408
[ 5,091,775
z 7,221,768
HY ST (ABAZTSSFRC)(IIEHIIE 31,158 34,624 N3,466
olaE2dY 4,200 4,200 0
ole 29| 4,200 4,200 0
203 YR=Zl 4,200 4,200 0
04 BPANSILLZAY 4,200 4,200 0
ORAN2IL =AY 350,000 *12& 4,200
J|23y| 26,958 30,424 A3,466
J23 26,958 30,424 A3,466
201 Lty 17,358 18,424 A 1,086
01 AlR22/Hl 15,402 16,060 AB58
OFINIES=1:] 11,622
0.J12AIREEH 66,0002 189! 1,188
0.AFRI1D1 L SAESE 9,858,000 9,858
0.AR2Rs2 48,0002 12 576
O3 210,0009 * 189! 3,780
02 B32gHl 1,956 2,364 A408
O=2222 2 HMA 1,836
0.28e3 102,000 & * 189! 1,836
OAl & =HI KXY 120
0.424) A4S 2 22| 120,000 120
202 Ol 9,600 12,000 A2,400
01 2o 9,600 12,000 A2,400
o&elotl(2sZHl)
200,000 * 4 & x 128 9,600
METRSY(SEHMSSM/AY - AE) 18,675,323 10,359,834 8,315,489
= 9,127,950
P 378,480




SN MYSsIC
MY NRATESH(SEHLSA/AY - ME)
ool ANSASTR S
SN HH G (EH) - MBAY - BYS Ak Soe s
= 4,027,549
= 5,141,344
AMSASKIA 4,743,000 533,880 4,209, 120
= 2,771,500
= 1,735,750
i 235,750
=S K& 1,137,000 533,880 603,120
= 718,500
& 209,250
= 209,250
402 QIZHXE0|H 1,137,000 533,880 603,120
= 718,500
& 209,250
= 209,250
01 QtR=8x 1,137,000 533,880 603, 120
O LS HEETHA 33,600,000& 33,600
2 16,800
& 8,400
o 8,400
O &=t 61,600,000& 61,600
= 30,800
& 15,400
o 15,400
OogdatE N 341,800,000& 341,800
= 170,900
& 85,450
o 85,450
Ogat= 4t HEL(1HA)
700,000,000 700,000
= 500,000
& 100,000
o 100,000
a2 ASKA 106,000 0 106,000
= 53,000
& 26,500
i 26,500

no




SN MESEHT
Hal: NEATASH(SYASLL/YY - AE)
ool YUSASTE (5 &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
402 QIR OIF 106,000 0 106,000
=2 53,000
= 26,500
2 26,500
01 ANZLZE 106,000 0 106,000
OB DAL (104 ) 16,800,000 16,800
2 8,400
= 4,200
2 4,200
OY A2 M A0I 2R 70,000,000 70,000
2 35,000
= 17,500
2 17,500
oNg=ERY 19,200, 0002 19,200
2 9,600
= 4,800
2 4,800
HEMKIGBAZSHCES 3,500,000 0 3,500,000
= 2,000,000
= 1,500,000
401 Al&HI L= O] 2,720,000 0 2,720,000
= 1,555,400
= 1,164,600
01 Al&H] 2,712,656 0 2,712,656
OM B2 XA 2,712,656,0002 2,712,656
2 1,548,056
= 1,164,600
03 Al&=CHY] 7,344 0 7,344
OMEEI2 XM A ST Y]
2,720,000,0008 * 0.27/100 7,344
2 7,344
402 QIR+ OIF 780,000 0 780,000
= 444,600
= 335,400
N EEES 780,000 0 780,000




M MEAEFE
HI: MENASH(SSoHLS/US - AF)
CHel: UMBASITH (982
= - bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OMEXEIRAXTA (2ESIE)
780,000,000 780,000
= 444,600
[ 335,400
ZMHHE X XA 92,975 96,129 A3,154
ZOSHAY & 22| 66,650 58,485 8,165
201 LErRHH| 5,950 1,835 4,115
01 AtR2telH| 2,950 1,000 1,950
OLet2H| 1,200
0.2=XP 2F 22
100,000 * 129 1,200
O=&Hl 1,750
0.2=XUR=Z 7,000 * 501 % 50 1,750
03 EA2HI 3,000 0 3,000
OAlZ UM A} 3,000,00084 3,000
202 O] 10,200 4,800 5,400
01 =2LHOIHI 10,200 4,800 5,400
Ol 2A2L340{H| 170,000 %501« 122 10,200
203 AR =ZH 3,000 3,000 0
03 AIMZ=RAR=ZY| 3,000 3,000 0
O2e=xgex=x 1,000,000 1,000
OMEeXLdRER 1,000,000 1,000
ONESFIAILFTENY MEASAIEX
1,000,00024 1,000
206 X2 Hl 2,500 3,850 A 1,350
01 XZ4 2,500 3,850 A1,350
OZ412 7 (OLOIHIMIZIHE R 25)
25024 * 10,0002 2,500
401 Al&HILLCHY] 45,000 45,000 0
01 Al&H] 45,000 45,000 0
OZ3n FYALIILIOF & X
15,0002 * 2JHA*1,5000H 45,000
PSSP 26,325 37,644 A11,319
101 Q14 7,725 8,094 A 369
10 JIZH2Z2ANEES 7,725 8,094 A369




MBS s
NS (SYHS /LY - ME)
2 THUH £ X X & el e
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
SEEEEEEE 30,9002+ 1021 %10 3,090
ONEBYDT 22 30,9002 1021 %102 3,090
OSTHBOX MEXY 30,9002 #5010 1,545
201 gr2g| 18,600 29,550 A10,950
NEFTEIT 13,000 22,750 ~9,750
ogxtz 13,000
0.HSDAUBUR UKD
6502 %20,0001 13,000
z3=29Y) 5,600 6,800 A1,200
02222 2 MM 5,600
0.HESIH 2ol MRS
100,002 * 122 1,200
0.XEARY 2ol HIIRS
100,0002! *12% 1,200
0.&ECI2 BAM ®IIRS
100,000 %72 *2JH & 1,400
0.XNERDE BLAL $E2
50,0002 * 1224 1,800
X ALY 474,700 438,155 36,545
AEE AL 474,700 438,155 36,545
206 T2l 6,700 7,400 AT700
ET] 6,700 7,400 AT700
OXF4= yihze v 3,5002 *800 % 2,800
OYSHYM 547 3,900
0.8 S3REX 20,0002 *40S 800
0.BHELIR JIHKH 45,0002 x20S 900
0.MHHE MBS 13,0002 * 100 1,300
0.HHLME AT 6,0002 150 900
401 ASHILLHY 468,000 375,560 92,440
NEE 466,560 375,560 91,000
OgEItENE =4
10,000,0002 * 11IHS S 110,000
OBXLIS AHES 2,000,002 * 1044 20,000
Ol0t2 18EE8 ¥ 24 108,000
0.10+212E X4
8,000,0002 * 14 * 11IHS S 83,000




SN MYSsIC
MY MRS (SEHLSA/AY - ME)
CHel: JFEAE T ALY CRE-E))
DA HB L CP(E) - HRAY - BAS 01l &+ o4 Soe s
0.10t= 186 22(300H4)
25,000 & * 800m* 20,000
O&FESAIIA TF=2tel 10,000,000& 10,000
OaM BAX A FHEHIAY 20,000,000& 20,000
Odlet AX0tE D=2X ZHIAY
198,560, 000& 198,560
03 AIZ=C0HHI 1,440 0 1,440
Odlet X0t D=2 X EHIAIS S HYI
200,000,000& = 0.72/100 1,440
=ItRIIALY XI& 5,109,858 3,535,825 1,574,033
= 3,372,418
& 1,110,742
= 626,698
= JIRIIAY XI& 5,109,858 3,535,825 1,574,033
= 3,372,418
L= 1,110,742
= 626,698
101 el t| 2,047,761 970,282 1,077,479
= 1,394,374
L= 396,900
i 256,487
10 JIZAH22ASES 2,047,761 970,282 1,077,479
O34 IR I AL (6021) 800,778,000& 800,778
= 480,467
& 196,093
i 124,218
O3S A RIS T AR (221)
33,707,000 33,707
= 20,224
& 4,045
o 9,438
Ot QAT & 801244 (702!)
1,213,276,000& 1,213,276
= 893,683
= 196,762
o 122,831
301 YBtEAE 46,800 23,760 23,040
= 46,800




2A: MESEFH
M MENIASH (s SSa/AY - )
S =0t RIIAME XA (ctel- e
5 A XNEH . Cte (S HIEAIY - HAZ Al OH HEE Hl D=2+
10 SHAIABIZEAZ 46,800 23,760 23,040
OZ2 2R IIAIY = ZH[(600!)
21,600,000& 21,600
= 21,600
O(EHIOIQIIA ST EZ DTSRG (702])
25,200,000& 25,200
= 25,200
401 AAHILE20HY] 2,900,297 2,531,783 368,514
= 1,862,244
= 700,042
= 338,011
01 Al&H] 2,573,460 2,319,795 253,665
O=IJIRIIAFE (2,420na) 2,092,372,000& 2,002,372
= 1,395,250
< 596,840
= 100,282
OZEXAIE22](1,200nha ) 481,088,000 481,088
= 270,358
< 65,742
= 144,988
02 Zeltl 105,934 82,215 23,719
O=IJFRIIAFY 22ldl(2,420ha)
105,000,000 105,000
= 58,380
== 12,390
= 34,230
OZg A= 22| 22Id1(1,200ha)
934,000 934
= 514
< 122
= 298
03 ARy 220,903 129,773 91,130
O=JIRIIAMY 20| 9,445,000 9,445
= 9,445
OXHXAIZ 22 ALY 2014 3,556,000& 3,556
= 3,556
OSSAEIIRIIAMY 20| 94,399,000 94,399
= 56,639




SN MESEE
Ha: NYUNRSH(SHHS /ALY - AE)
SH9l: ZIIRIIAS X2 (£ @8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 11,328
2 26,432
O ZBIOI0HA ST EE K|
113,503,000 113,503
2 68, 102
= 13,620
2 31,781
402 2I2EXHEOIF 90,000 0 90,000
= 54,000
= 10,800
2 25,200
01 AN=LZE 90,000 0 90,000
OLHZIHHOI O A AL 90,000,000 90,000
2 54,000
= 10,800
2 25,200
405 XtoarzE S| 25,000 10,000 15,000
=2 15,000
= 3,000
2 7,000
01 KMUSEHSH] 25,000 10,000 15,000
OB QAL T B HY 7Y
25,000,000 25,000
2 15,000
= 3,000
2 7,000
MEAS ALY 2,019,721 2,567,793 548,072
= 1,050,203
= 161,101
2 808,417
SUUS AX ASEA 433,250 522,413 89,163
402 QI2EXH0IF 433,250 506,268 A73,038
01 AN=LE 433,250 506,268 73,038
OB M4D 48 XX A X (100ha)
3,000,0002 *100 ha *60% 180,000
O RSHE A X
28,000,008 * 5CH * 70% 98,000




SA
X XH .
(=

chel:

-~

-

Erare
0u oU pu

B 24 i

4

ster
ASH(sYHY
S Abed

>
<
0o
8%
P
B

S HE - S(EH) - NRAY - BES sk oy e D=2
Og==s=ZHHAS N
1,500,000& * 2,500& =1.5% 56,250
OHBILMMTZD
1,500,000& * 220 * 30% 99,000
MEELSMHATA 17,575 0 17,575
= 13,300
& 4,275
402 QIZEXE0|H 17,575 0 17,575
= 13,300
& 4,275
01 QUAR=2EX 17,575 0 17,575
OLH SIS MATIA (3ha ) 4,750,000& 4,750
= 3,325
< 1,425
ONMBEISMAX A E 22 (3ha)
12,825,000& 12,825
2 9,975
< 2,850
USSR 1,568,896 1,960,000 A 391,104
= 1,036,903
= 156,826
= 375,167
401 AU S04 697,990 1,960,000 A 1,262,010
= 462,370
= 69,300
2 166,320
01 Al&HI 693,000 1,952,600 A 1,259,600
OYHAM A= =4 (165ha) 693,000,000& 693,000
= 457,380
= 69,300
i 166, 320
03 AlZ=0dl 4,990 7,400 A2,410
OUMESZHAIY 20|
1,386,000,000& = 0.36/100 4,990
= 4,990
402 QIZEXE01H 870,906 0 870,906
= 574,533




SN MESEE
Hal: MANASHE(SYAHSLL/YY - AE)
s AEAS ALY
_ _ _ Muo
SNBSS - HRAY - BHES Aboy i
402 QIR 0| A = 87,506
2 208,847
01 ARLE 870,906
OLg=22l(17ha) 8,786, 0002 8,786
2 4,393
= 1,318
2 3,075
O A& = X 4 (165ha) 693,000,00024 693,000
2 457,380
= 69,300
2 166,320
OB X &8 HI B HI X 2 (20H) 9,600, 0002 9,600
2 4,800
= 1,440
2 3,360
OS MAZH X 28,000,000 28,000
2 14,000
= 4,200
2 9,800
O HAZAETR (15kn) 30,000,000 30,000
2 15,000
= 4,500
2 10,500
OWLIREYMNS XA (400ha) 101,520,000 101,520
2 78,960
= 6,768
2 15,792
N2 RSNV 331,110 0
MEASTIR 116,110 0
201 gr2g| 10,650 0
01 AF=Raelt] 7,650 0
OgurgH| 5,350
0.242 2 THPY 50,0008 *5% 250
0.442 ELE 2ABUR
7002 + 3,00004 2,100
0.AFOFZE THHHEHXI &2BHRI
300,008 * 5J 2 1,500

_10_
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2N NYSHE
HE: NYUNASH(SEHY /ALY - ME)
el YT AlA (S5 &)
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 gggf; B2
AT AL 1,161,260 1,056,523 104,737
2 378,480
= 47,310
2 735,470
Saz ey 140,000 123,890 16,110
401 AlSHI LSO 140,000 123,890 16,110
01 Al 140,000 123,890 16,110
OS&Z Ha A 140,000
0O.MEHMSTEY, MY, ¥4F S
80,000,0002 80,000
0.4% HHASHZSAZ0/2
30,000,0002 30,000
0. FHI 24 (104 2) 30,000, 0002 30,000
T AR & 473,100 399,393 73,707
2 378,480
= 47,310
2 47,310
401 AlSHIL SO 473,100 399,393 73,707
2 378,480
= 47,310
2 47,310
01 Al&H] 469,579 396,518 73,061
O G A4 AR (0. 7kn) 130,652,0002 130,652
2 104,332
= 13, 160
2 13, 160
OY T AEINA (5.0kn) 307,768, 0002 307,768
2 245,768
= 31,000
2 31,000
O G F 4 Ak (7.0kn) 31,159,002 31,159
2 24,859
= 3,150
2 3,150
03 Al&=CHY] 3,521 2,875 646




SN MESEE
Hal: NEANASSE(SYASLL/YY - AE)
el YT AlA (e9: @8
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
OY T A LA 20l
131,600,0008 * 0.72/100 948
2 948
OYSTEMNZAS 2Ol
310,000,0002! * 0.72/100 2,232
2 2,232
OYT LA 2|
31,500,00020 * 1.08/100 341
2 341
YTEI L RABSH 548,160 533,240 14,920
201 gr2gy| 3,060 0 3,060
01 AF=Rz2lb] 3,060 0 3,060
OgurgH| 1,660
0.4YSHALER 2
100,000 & * 122 1,200
0.DXAM HZEHE 652 * 4,00004 260
NVEEERIEYY 2,0002! * 10004 200
o3| 1,400
0. MESHARET 7,00020 #4921 x50 1,400
202 OFl 4,800 0 4,800
01 =LHoit] 4,800 0 4,800
OJl=2 4301t 10,0008 * 49! * 128 4,800
401 Al&HI L2 0| 540,300 533,240 7,060
01 Al&H] 536,916 530,000 6,916
OYTAEIN AL 119,136,0002 119,136
OYTHE(Seley, S22, 83, 8S)
347,780,00024 347,780
OUTH ZH I A (44.7kn) 20,000,000 20,000
OUTHH (YTELABER ATH DA
HS) 50,000,000 50,000
03 Al&=rHl 3,384 3,240 144
OYTAIL B2 A 2 TH]
470,000,008 * 0.72/100 3,384
STHOI S X2 330,083 200,000 130,083
=2 67,450
= 8,790
2 243,843




SN MRS

HE: MANASH(STHY /ALY - AE)

ool 20IB X (S5 8 9)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
CEEEEHEEE 130,083 0 130,083

= 67,450
= 18,790
2 43,843
402 QIR+ OIF 130,083 0 130,083
= 67,450
= 18,790
2 43,843
01 L= x 130,083 0 130,083
OL Bl QA A B2 B 222 (560H
) 58,800, 0002 58,800
2 25,200
= 10,080
2 23,520
OL B0l QU AAY B3I 222 Z (10K
&) 30,333, 0002! 30,333
2 13,000
= 5,200
2 12,133
OSTHOISIHIBNRAAY LHSHZ AL (13
Oha) 40,950, 0002 40,950
2 29,250
= 3,510
2 8,190
S MA AL 200,000 200,000 0
402 QIR+ OIF 200,000 200,000
01 PRAESEE 200,000 200,000
OSg SATBS(SYANLRUE 28)
200,000,0002 200,000
2 At 2,579,895 0
= 1,602,348
= 392,682
2 584,865
ZYANLRIR 656,896 0 656,896
= 364,980
= 87,528
2 204,388




SN
X XH .
(=

chel:

PA 1z 12

2l=sgict
ANASH (SPHY 2/
INE

0o
8%
P
B

K- E3 .S (3H) - MBAY - B gggf; HRS2
401 AlZHIZLE204Y] 284,757 284,757
= 124,040
= 48,185
iy 112,532
01 Al&H| 268,323 268,323
O2u L etX e (11ha) 39,206,000& 39,206
& 11,465
= 27,741
O2U2 =22 X2 (20ha) 229,117,000& 229,117
= 112,338
o= 35,000
= 81,779
02 Ze2lbl 14,343 14,343
OZxg & A 2el(60ha) 14,343,000 14,343
= 10,040
T 1,291
= 3,012
03 A&y 2,091 2,091
O2 LR LTSI
39,635,000& = 1.08/100 429
& 429
OZ2URSATHL2UYI
230,779,000& = 0.72/100 1,662
= 1,662
402 QIZHXE0| A 372,139 372,139
= 240,940
= 39,343
iy 91,856
01 QIZtX=2EX 372,139 372,139
OZd M %==x2(54ha) 91,553,000& 91,553
= 33,225
o= 17,496
= 40,832
SS&E X X2 (40nha) 101,486,000& 101,486
= 78,933
& 6,766
= 15,787
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SN MESEE
Ha: NANASH(SHHS /ALY - A E)
ol TRIAN (649l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OX I Ful(32ha) 27,552,002 27,552
2 21,440
= 1,824
2 4,288
OHI2371(30ha) 5,295, 0002 5,295
2 4,118
= 353
2 824
O212IChY Al Z & (5ha) 4,530,0002! 4,530
2 1,565
= 890
= 2,075
O M€l Z & (50ha) 31,685,000% 31,685
2 20,901
= 3,234
= 7,550
O£ S+ (18ha) 51,138,000% 51,138
2 34,938
= 4,860
= 11,340
O& 421272 & (20ha) 58,900,000% 58,900
2 45,820
= 3,920
= 9, 160
NEELNEEESE 1,922,999 0 1,922,999
= 1,237,368
= 305, 154
2 380,477
401 ASHLLHY 916,999 0 916,999
=2 588,498
= 146,206
2 182,295
L 890,751 0 890,751
O% Jt3II A+ (250ha) 212,088,000%! 212,088
2 136,222
= 33,766




SN MESEHT
Hal: MEANASSE(SYAHSLL/YY - AE)
chel: ZalAlY 2l &R
_ _ _ Muo
SNBSS - HRAY - BHES Aboy i 2
= 42,100
OUEYRIRAL (MY, OF Y H, SR A,
F AR 248,200,0002 248,200
2 159,450
= 39,500
2 49,250
O LI THBH XAl & 430,463
0. AFXI AL (5ha) 264,902,0002 264,902
2 168,342
= 42,976
2 53,584
0.21 & &8 1 2 (2.5kn) 165,561,0002 165,561
2 105,211
= 26,860
2 33,490
02 el 19,645 19,645
O IHRIIA 22 1,292,0002 1,292
2 7,283
= 1,784
2 2,205
OL I THH L XIAl & 2t 21 8,353,0002 8,353
2 5,388
= 1,320
2 1,645
03 A&l 6,603 6,603
O RIIAY 20|
225,000,0002! * 0.72/100 1,620
2 1,620
OURLBBAY 2OHYI
250,000,00020 * 0.72/100 1,800
2 1,800
OMEBMHLTAIE 2CHbl
442,000,008 * 0.72/100 3,183
2 3,182
2 1
402 QIR+ OIF 1,006,000 1,006,000
= 648,870
= 158,948
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S ARSSE
M MNRATESH(SEHLSA/AY - ME)
Sl ZAAY CR-E|
SN I SRI(S) - NRAY - B sk Soe B RS2
402 SIZ2HX =0l i 198,182
01 QtR=8=x 1,006,000 0 1,006,000
OgatsMaHI A 258,000
0.5 22K (8ha) 48,000, 000& 48,000
= 30,960
= 7,584
i 9,456
0. ALS M ADIBIAI A XA (20 2 )
60,000,000& 60,000
= 38,700
= 9,480
A 11,820
0.2+l 21 XI& (50CH) 150,000, 000& 150,000
= 96,750
= 23,700
s 29,550
OguSIE=7SAL 748,000
0.YMEMSHM AL (250 ) 90,000,000& 90,000
= 58,050
= 14,220
i 17,730
0.dArE A X AIA (1,042m") 150,000, 000& 150,000
= 96,750
= 23,700
fiis 29,550
0. 2ULPHMSLMII 7P (20H)
8,000,000& 8,000
= 5,160
= 1,264
i 1,576
0.2ASIHBFSAIE(1H)
500,000,000& 500,000
= 322,500
= 79,000
= 98,500
=NYEITS 1,392,666 664,400 728,266
= 510,000
= 882,666

_21_




SN MESEE
Hal: MENASH(SYHSLL/YY - AE)
|

cel: =QUEYIRE (29 @9)
SN S(B) - NRAY - B2 O] &k o8 e =2
MBS FH=JLAIZ 2L 266,666 364,400 AQ7,734

& 80,000
= 186, 666
401 AIEHIL RO 266,666 364,400 A97,734
& 80,000
= 186,666
01 A&l 266,666 364,400 AQ7,734
Qg =XS2 A2 2AY
266,666,000 266,666
= 80,000
i 186,666
S UFCE 88 AZEY 666,000 300,000 366,000
& 200,000
= 466,000
401 AIEHILROY] 666,000 300,000 366,000
= 200,000
2 466,000
01 A&l 661,804 297,840 363,964
OTasTSeY 28 ABAXHAY
661,804,0002! 661,804
= 195,804
i 466,000
03 AlZ=0id] 4,196 2,160 2,036
OZdENFLUE &8 A3]EH F0HYI
666,000,000 * 0.63/100 4,196
& 4,196
=NUHERAFS 460,000 0 460,000
& 230,000
= 230,000
401 AU =204 460,000 0 460,000
L= 230,000
= 230,000
01 Al&HI 456,688 0 456,688
ORRUIPSEE e s 297,840,000& 297,840
[ 147,840
i 150,000
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SM: MESsE
T MAULGESH(SEHY /LY - NE)
I

&2 sAUERHIARS (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OEMA= JizHX M 158,848,000 158,848
o= 78,848
= 80,000
03 Al&S20iY] 3,312 0 3,312
OMAHBATHAISE 20|
300,000,000& = 0.72/100 2,160
= 2,160
OEMA= Itz ELAIE 20|
160,000,000& * 0.72/100 1,152
T 1,152
MESUASSSANUME BN (SSol| LA/ 2ASA - ALE) 5,914,888 3,214,172 2,700,716
= 2,205,947
g 828,000
= 2,408
& 1,004,226
iy 1,874,307
MNEHHS 433,493 433,162 331
=2 236,624
& 50,059
o 146,810
ASHMNSHAM XA 403,493 403, 162 331
= 236,624
& 50,059
o 116,810
101 Q14| 186,816 283,210 N96,394
= 93,408
= 28,022
o 65,386
10 JI2ZtHIZ2E2XNSE S 186,816 283,210 N96,394
OO0l & BEHICH2E) 186,816,000 186,816
= 93,408
= 28,022
= 65,386
401 Al&EHILE20iH] 208,577 119,082 89,495
= 139, 166
& 20,822
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SN MESEE
By NARUSHSNYMEBE (SYUNLS4/YY - AE)
CHol: MBS 2|1 &2l
SM-EH . C(BH) - HRAY - B2 Aol des 5t
401 Al HIZ 20| i 48,589
01 Al&HI 208,577 119,082 89,495
OAUSHEEY ST (EI0I22T2IS
600ha) 30,995,000& 30,99
2 29,057
= 581
fia 1,357
O2USTHEES THSHH(2Z 1002)
2,685,0008 2,685
2 1,971
= 214
fia 500
O2USTHAES TIHSH I (T4 1002)
2,111,002 2,111
= 1,488
= 187
s 436
OAUSTHHEY WAHSAH (A2 1002)
2,158,000& 2,158
= 1,521
o= 191
i 446
O2USTHAES LISEAH 10ha)
29,374,000& 29,374
= 27,217
= 647
fiis 1,510
OALSTHAES AT DALHH(1,0002)
17,836,000& 17,836
= 12,485
= 1,605
[ 3,746
OsU=TeLHLSFAZABUH 20ha
) 7,996,000& 7,996
2 4,860
= 941
i 2,195
OXNE&YH &=L (20ha) 2,453,000& 2,453
2 1,274
= 354
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pdledied
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00J
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2N NYSHE
By MARUSHEHYMEBE( QP4 A/ - AFE)
CHol: AFEITHOH Ol &
. _ - Muo
SN -EHH . (B) - MPAY - BE2 Aol il i~ o
= 7,413
i 3,176
OAMEXI =2 & 2 (4ha) 840,000& 840
= 588
= 176
2 76
OAZHEA (11 ) 4,862,000 4,862
= 3,403
= 1,021
2 433
OAHZHH O™ XIS (10 A ) 50,000,000& 50,000
= 35,000
= 10,500
2 4,500
OMXIE &AL (Tha) 54,000,000& 54,000
= 37,800
< 11,340
2 4,860
OALEALER Ol 2 AL (1ha) 81,000,000& 81,000
= 56,700
< 17,010
2 7,290
OAHZHEH (8IH4) 2,039,641,000& 2,039,641
= 1,427,748
= 428,325
2 83,568
OArLHZA (704 ) 49,000,000& 49,000
= 34,300
= 10,290
2 4,410
OAHE oM X (100 2&) 50,000,000& 50,000
= 35,000
= 10,500
= 4,500
E-EINN 1,381,330
= 182,755
= 241,168
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SA
X XH .
(=

chel:

%
02
&

>.
py
114
114
>
i

_ _ HE T
N EH - S2A(3H) - MRAE - BES &hoh Ol AF o8 HusZ
0.LFIIHA +48 8,4002 *100CH 840
0.2 A3t 2 RXI24 500,0008 * 2CH 1,000
OXt KX bl 11,000
0.SHMEXSGVTRETY
1,000,0009! %1174 2 11,000
202 01l 6.000 6,000 0
01 =LHoftl 6,000 6,000 0
OJl2ge48 0| 100,000 501 * 128 6,000
206 M2l 900 1,400 A500
01 M2l 900 1,400 500
OB MWASAY +HLEDY 4000008 +10H 400
OREEHE +Hd2ED 500, 0008 500
301 YsrEAZ 400 400 0
12 JIEtRAE 400 400 0
OMENMESI ADE A 50,0002 +80! 400
303 Z&Z 1,300 0 1,300
01 Za2 1,300 0 1,300
OMEYX A& 1,300
0.32% 500,0008 * 174 S & 500
0.2 =+ 300,0008 * 2JH S8 600
0.8 o 200,0008 * 174 S 6 200
401 A&HIZ=HYI 6.200 5,900 300
01 AlZHI 6,200 5,900 300
OTISHS T H AFE (1574 2 /8002 )
5,000,0002 5,000
OMSAANELBLS(4IH4) 1,200,0008 1,200
405 RHarE S| 23,000 3,000 20,000
01 MAUSEFSH| 23,000 3,000 20,000
OSHUERI Y (MES TSR
1,000,008 * 2CH 2,000
OMNERFI|TY 420,0008 * 50CH 21,000
=EINVE 692,221 421,138 271,083
= 155,248
3 221,913
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SN MESEHT
NB: NEEARGSNYME R (SR AL/ - ME)
&Rl MEYX CER:E
A BB ER(E) - HRAY - BAS Aro e =2
= 2,140
= 963
= 2,247
02 23244l 5,000 0 5,000
OSRAZ AN RXNE 5,000,000& 5,000
= 2,000
= 900
o 2,100
202 Od4dl 5,000 5,054 Ab4
= 2,000
= 900
i 2,100
01 =2LUAbI 5,000 5,054 AbB4
O&t=2 &t ESH|(250921) 5,000, 000& 5,000
= 2,000
= 900
i 2,100
207 SO 5,000 0 5,000
= 2,000
L= 900
i 2,100
02 &&HHE| 5,000 0 5,000
OfESaEEn T2 32 (100)
5,000, 000& 5,000
= 2,000
< 900
o 2,100
308 XXIESHMSOIHE 304,100 152,050 152,050
= 152,050
= 152,050
05 XXSHARES 304,100 152,050 152,050
Od =22l RE S 304,100,000& 304,100
< 152,050
o 152,050
401 AIEHIL RO 32,741 0 32,741
= 13,096
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S MRS
B MRS ENY M PN (SR YA /UY - AE)
&Rl MEYX
SH - BH - S(S) - NEMY - BES sy e
401 AEHIZ=20Y] s 5,894
= 13,751
01 AlI&HI 32,741
ORESAHUFHIAIE X (SAHINX= 14
2) 10,000, 000& 10,000
= 4,000
S 1,800
[ia 4,200
OZ2XAZES0/1HIB 2T A2 (3ha)
12,741,000 12,741
= 5,096
S 2,294
[ia 5,351
O=Folottet YRAZSEHIIAIE (10HL)
10,000,000 10,000
= 4,000
[ 1,800
[ia 4,200
405 KHeHRE S| 83,025
= 33,210
S 14,945
o 34,870
01 L =SSFHSHI 83,025
O& =Xt EH 7 15,425,000 15,425
= 6,170
< 2,777
s 6,478
OsSUHESRAI P (UHx2CH) 1,600,000& 1,600
= 640
= 288
s 672
Odt=2 &t (10H) 50,000,000& 50,000
= 20,000
= 9,000
s 21,000
ORESAEHI (XSS )1H 3,000,000& 3,000
= 1,200
= 540
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!
NUSALBHUME B H (S WL/ - AE)
A= AR
SN C(BH) - NRAY - HES Aro e 2
i 1,260
OJIAHSH SR SHAI A (A E20H)
7,000,000 7,000
= 2,800
== 1,260
i 2,940
OJIHsZt20HSANARE(ZH 10H)
6,000,000& 6,000
= 2,400
= 1,080
o 2,520
Sitg 24dz2el 91,690 0 91,690
= 27,507
= 19,255
= 44,928
401 Al&BIZL20HYI 91,690 0 91,690
= 27,507
& 19,255
= 44,928
01 Al&HI 91,690 0 91,690
OdEAHIA S AZ FHI (3km) 91,690, 000& 91,690
= 27,507
= 19,255
i 44,928
METRIEE 2 58,724 35,200 23,524
= 2,408
& 2,440
= 53,876
SHEIALE 38,724 35,200 3,524
= 2,408
= 2,440
= 33,876
401 Al&HIZL2C0HYI 38,724 35,200 3,524
= 2,408
& 2,440
= 33,876
01 Al&HI 38,724 35,200 3,524

_33_




SN MESEHT
HE: NEEUSLHENYMAL A (SRS /U - AE)
el aRItREERR 2 ® gl
A 1(BIH) - HISALY - Bl S Ao gggf; HRS2
OBs# 38,724,000 38,724
= 2,408
< 2,440
= 33,876
=D\ 20,000 0 20,000
308 AFX|EHX 20,000 0 20,000
08 JIEIE 20,000 0 20,000
O 20,000,000 20,000
SOzt 187,600 140,000 47,600
= 131,320
== 16,884
o 39,396
S 187,600 140,000 47,600
= 131,320
= 16,884
iy 39,396
402 187,600 140,000 47,600
= 131,320
= 16,884
iy 39,396
01 [PAPNE S 187,600 140,000 47,600
OS2t 0Ia 187,600, 000& 187,600
= 131,320
== 16,884
o 39,396
MBESARSIB2AEERY ,485,000 1,493,700 A8,700
rag 828,000
== 197,100
iy 459,900
SoE o 429,000 300,000 129,000
g 300,000
= 38,700
iy 90, 300
401 AlZHIL204b] 429,000 300,000 129,000
g 300,000
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SN MESEHT
Hu: NEEUSHESNUMAS A (SRHL /LY - AE)
o9l MEBUSEHBAXY cHol: & 2
SA - HB B9 (E) - NRAY - Ba S Lo e DS
401 NEHIL=2OY] = 38,700
2 90,300
01 Al&HI 426,000 300,000 126,000
ONAS AT LA (1IHA) 426,000,000 426,000
[ 297,000
= 38,700
= 90,300
03 A& =20 3,000 0 3,000
OXNHFLE T E ALY RO 3,000,000& 3,000
= 3,000
N M =2y 1,056,000 1,193,700 A137,700
s 528,000
= 158,400
s 369,600
401 AlZHI X R OHYI 200,000 993,700 AT793,700
s 100,000
< 30,000
= 70,000
01 Al&HI 200,000 993,700 A793,700
OO & & ME=Z A (62ha) 200,000, 0002 200,000
= 100,000
= 30,000
= 70,000
403 AXIEHSAH201H 856,000 200,000 656,000
= 428,000
= 128,400
o 299,600
02 SJI2S0oIthetth A HI 856,000 200,000 656,000
OBt S2MEN=Z A (14ha) 856,000, 0002 856,000
s 428,000
= 128,400
o 299,600
A KRS (sgolat/ede - AE 34,959 3,271,338 A3,236,379
At 2kel 34,959 14,013 20,946
ZRML(L0H) =22 34,959 0 34,959
|
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